1.5

1.0

0.5-

y (m)

—0.51

—1.0 1

—1.51

1.0

0.5-

y (m)

—0.51

—1.01

100 1

80 -

pixels

40

20 -

Run 4179, integration on 12 samples

HG pedestal [ADC]

0.0 -

0.0 -

60 -

4
%;‘.'.’. .
%:‘ o:;:t‘.
° o | 3 -2
< * "a..g:?#’.‘
X . 3 8o
. .. \ Py ; o.
4 PR R . m% L o SR -0
A oY (3°
VALY fu
> .‘ @ @ [ ] o
3 ?ﬁ’ S .9.,$
et 24 Ra Ghel oA 2
] f# %..‘ ®q @ A
i,n :g 3 "‘tb’ .
B ‘10 e
.'. e @ _4
|
| | EngilneeringCIameraFrlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
HG pedestal std [ADC]
38
® o
.57 37
: .{of.t{.$ B .
f. Y ® o;o QEJ} - 36
LA SR SRS Wt £
. . .:‘ cading. S 4 :
fo’. 1 {.. f...}y - 35
® ® e o e ® &
u p ® o @ .~ .f
L CERETLIRT SR X 34
uft. .o.’to’ ...o$ ;.o
Vapte * ey _
o.‘?{; AR v 33
@ [ ]
o % & (#Q..x 32
’. ' .*. P
o
“ 31
| | EngilneeringCIameraFrzlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
B HG Median 0.03, std 3.11
15 -10 -5 0
HG pedestal
B LG Median -0.55, std 2.67

140 -

120 1

100 1

pixels

60 -

40

20 -

80 1

-10 -5 0
LG pedestal

—1.51

y (m)

—0.5 71

_1_0_

—1.51

pixels

1.5

1.5

1.0

0.5-

0.0 -

200 1

175

150 -

140 -

120 -

100 -

80 -

60 -

40

20 1

LG pedestal [ADC]

i, 8o Vrgea Ly
P g S

EngineeringCameraFrame

~1.0 -05 05 1.0

X (m)

LG pedestal std [ADC]

.}‘ bo I Ao
S Woe e o
S . ...f.. 3 A

EngineeringCameraFrame

~10 -05 00 05 1.0

X (m)

32

31

-30

29

28

27

26

25

B Median 34.20, std 2.01

30 35 40
HG pedestal std

25.0

27.5 30.0 325

LG pedestal std

35.0

B Median 28.61, std 1.94

37.5




600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 4179, pixel 0

—— event 1001, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

—— event 1001, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

— event 1002, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

200

600

0

10 20 30 40

time sample [ns]

— event 1002, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

—— event 1003, HG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset

0 10 20 30 40

time sample [ns]

—— event 1004, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

200

600

550 1

counts [ADC]

w N I Ul
Ul o Ul o
o o o o

w
o
o

250 1

200

600

0

10 20 30 40

time sample [ns]

—— event 1003, LG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset

0

10 20 30 40

time sample [ns]

—— event 1004, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

0

10 20 30 40

time sample [ns]




600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 4179, pixel 0

event 1005, HG: RO

baseline correction
+ dt corr + corrected spikes

offset

—— event 1005, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

event 1006, HG: RO

baseline correction
+ dt corr + corrected spikes

offset

200

600

0 10 20 30 40

time sample [ns]

—— event 1006, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

—— event 1007, HG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset

0 10 20 30 40

time sample [ns]

—— event 1008, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

200

600

550 1

counts [ADC]

w N I Ul
Ul o Ul o
o o o o

w
o
o

250 1

200

600

550 1

w & -b (9}
0 o U1 o
o o o o

counts [ADC]

w
o
o

250 1

200

0 10 20 30 40

time sample [ns]

—— event 1007, LG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset

0 10 20 30 40

time sample [ns]

—— event 1008, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]




